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Teacher:
We’ll put Student J in our problem this time.  Each week Student J spends three fourths of his allowance.

Student:
Whoa, that’s a lot of money.

Teacher:
He saves one fifth of his allowance.

Student:
Mostly I don’t spend any money.

Teacher:
And then whatever he has left over is what he spends on his school lunches.  So the question is how much does he spend on school lunches?

Student:
Oh, this is hard.

Student:
This is easy.

Student:
Can it be a decimal?

Teacher:
It can be anything you want it to be.  You work it any way you think you’re supposed to work it and then we’ll talk about it.  Here, try another one; we’re going to have to throw some of those away.  Try that one.

Student:
Every time I get one I –

Teacher:
Wow, that was speedy.

Student:
Wow, that’s so easy.

Student:
Is it this?

Teacher:
Okay, what – you’re telling me that he’s going to spend nineteen twentieths of his allowance on school lunches?  Think about does that make sense?  Because he’s spending three fourths of it on whatever he wants to – how much is nineteen twentieths compared to the whole thing?  Would it make sense that he spends almost the whole thing on school lunches, or just a little tiny bit?  That’s what you need to think about.

Student:
Oh, twenty cents.

Student:
Answer.

Teacher:
Okay, Student K, eleven twentieths is from two of them too.  So I’ve got nineteen twentieths eleven twentieths, four twentieths, and one twentieth.

Student:
I put the one twentieth. [inaudible]  Two tenths and one fifth.
Teacher:
Wow.  Almost all of you have different answers from each other.  

Student:
I got it right.

Teacher:
Well, we’ll find out won’t we?  Who wants to come up here and explain what they did and I’ll tell you if you’re on the right track or not.  Student D?

Student:
Shut up.  You’re not in kindergarten.

Teacher:
Okay, now you’ve got to talk nice and loud so everybody can hear you.  Shh, let’s listen please.  Okay, go ahead.

Student:
I got – 

Teacher:
Hold on, I don’t think that they – 

Student:
I can’t hear.

Teacher:
Yeah, you’ve got to talk louder with all the other noise in the classroom.

Student:
I got three fourths and I subtracted it by one fifth because three fourths is what he spends and one fifth is what he saves.  And then I got this, and I subtracted it and I got eleven twentieths.

Teacher:
 So eleven – what would half be in twentieths?

Student:
Ten.

Teacher:
Ten.  

Student:
It’s almost – 

Teacher:
Now hold on a second; just think about this for a minute.  So, he’s telling me that he’s going to spend close to half of his money on school lunches each week.  If you’re telling me eleven twentieths, that’s half, but he’s already spending three fourths on other things – on whatever he wants – so if he’s already spending three fourths on other things would he have a half left to spend on – 

Student:
No.

Teacher:
So logically that’s not going to fit.  The math is correct but is that the correct way to work the math for this problem?  Maybe not.  Okay, Student J, do you want to give it a shot?  
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